Procvičování na týden do konce března:
celá čísla:
-36  - 5.(-2) =
3. ( -12 -5 ) =
- 4 . (-4) + ( -5 ) . 6 =
30 – ( -7 ) .( -4 ) = 
35 – 18 : (-6) =
5,4 – 0,2 . 4,5 =
-4,2 – 3 .( - 1,5 ) =
desetinná čísla:
3,5 -2,48 =                                  4,7 – 3,95=
3,5 . 6,8 =                                    3,4 . 28=
18 : 1000=                                  3,2 . 100 =
7,3 – 3:100=                               4,2 + 3:0,1=
2,5 :100 =                                    2,4 : 0,002 =
3 : 6 =                                           8 : 0,04=
5,4 : 0,06 =                                  24 . 0,2 =
6,4 : 8 =                                        1,5 : 0,03 =
Převody:
15 cm (km)                                  1,4 a (dm2) 
7,3 m2 (cm2)   	                 4 dm(km)
15 g (kg)                                       4,5 t (g)
18 ml (l)	0,5 hl (cm3 )
Kvádr: strana 208, 209 modrý pracovní sešit – zkusit , pokud budete potřebovat, napíšu návod 
 


